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(Solving Quadratic Equations) | pate: Block:

Topic 1: Complex Numbers
Simplify each expresion below.
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Topic 2: Solving Quadratics b}(’(}/ranhmp
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18. x*-11x+18=0

19. 2x* —32x+128=0
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Complete the table below.
Standard Form Vertex Form Factored Form
2. (Identify virbtex & Axis of Symmetry) (1dentify the Roots)
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Topic 4: Solving Quadratics by Square Ro;ats
24. 16x* -1=0 25, —3x* +11=17
)6)( ) —W = 6
Qv __‘, 6 - _2
ke '6 r = =5
)(::t f \ Y=+ =t Ve

26. (x+57 =4

(i

X= -Q«:%

o

27. (x-8)*-7=25

O(/Y)Q/: 3
Y40 = £ x5 XS s
< QD X-5 = 2

—

—

e

= gealz)

Xog'—] ) "73}
L y

 _ GineWISon (All Things Algebra), 2015




Topié 5 @ﬁw@ Quadratics by Completing the Square
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Topic 6: Solving Quadratics by the Q;@atic W )[ -— 2ol
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